‘ l % Multiply decimals by powers of ten

Name: Date: Score:
6.57 x 100 = 8.362 x 1000000 =
1.52 x 1000 = 4.912 x 10000 =
1.286 x 100000 = 10.946 x 10000 =
7.598 x 1000000 = 2.265 x 1000000 =
6.74 x 1000000 = 9.96 x 10 =
3.999 x 1000000 = 7.518 x 1000000 =
10.368 x 1000 = 2.14 x 100 =
7.077 x 100 = 4.513 x 1000 =
5.204 x 1000 = 2.596 x 100 =
7.458 x 100 = 2.937 x 10000 =
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‘ l % ﬂb Multiply decimals by powers of ten

Name: Date: Score:
6.57 x 100 = 657 8.362 x 1000000 = 8362000
1.52 x 1000 = 1520 4.912 x 10000 = 49120
1.286 x 100000 = 128600 10.946 x 10000 = 109460
7.598 x 1000000 = 7598000 2.265 x 1000000 = 2265000
6.74 x 1000000 = 6740000 9.96 x 10 = 99.6
3.999 x 1000000 = 3999000 7.518 x 1000000 = 7518000
10.368 x 1000 = 10368 2.14 x 100 = 214
7.077 x 100 = 707.7 4.513 x 1000 = 4513
5.204 x 1000 = 5204 2.596 x 100 = 259.6
7.458 x 100 = 745.8 2.937 x 10000 = 29370
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